

Lie symmetry analysis and exact solutions of the (2+1)-dimensional generalized KdV equation

Yu-Shan Bai¹, Ya-Na Liu¹

¹ College of Science, Inner Mongolia University of Technology, Hohhot 010051, People's Republic of China *Correspondence author. Email: mbaiyushan@imut.edu.cn

ABSTRACT

In this paper, the symmetry group method is used to study a new (2 + 1)-dimensional generalized KdV equation. The Lie point symmetries of (2 + 1)-dimensional generalized KdV equation are obtained. Symmetry reductions and several interesting explicit solutions to the (2 + 1)-dimensional generalized KdV equation are given by the Riccati equation expansion method.

Keywords: (2+1)-dimensional generalized KdV equation, Lie symmetry, Exact solutions, Riccati equation expansion method

1. INTRODUCTION

The nonlinear partial differential equations (PDEs) arise in different areas of applied mathematics, physics, and engineering, including plasma physics [1], biology [2], fluid mechanics [3], thermodynamics [4], [5], nonlinear optics [6], quantum mechanics [7], condensed matter physics [8], plasma wave [9], etc. Therefore, seeking the exact solutions of the nonlinear PDEs play an important role in the nonlinear field. So far, many effective methods have been developed, such as the Hirota bilinear method [10], simplest equation method [11], auxiliary equation method [12], inverse scattering theory [13], homotopy perturbation transform method [14], Darboux transformation [15], Lie symmetry method [16], [17], [18], [19], and so on. Among the abovementioned methods, the Lie symmetry method is a very effective method for solving linear and nonlinear PDEs, which enables to derive of the solutions of differential equations in a completely algorithmic way without appealing to special lucky guesses. Lie symmetry method can also be used to determine invariant solutions to initial and boundary value problems and to derive conserved quantities. In recent years, some interesting results for higher-order nonlinear equations have been obtained by combining the symmetry reduction method with other methods, such as the auxiliary function method and the simplest equation method.

In this paper, we consider the (2+1)-dimensional generalized KdV equation in the form of

$$\begin{aligned}
6au_x u_{xx} + au_{xxxx} + 3b(u_x u_t)_x + bu_{xxxt} + cu_{xx} \\
+ du_{uu} + eu_{xt} = 0,
\end{aligned}$$
(1)

where a, b, c, d and e are arbitrary constants. In [20],

the new class of soliton solutions to gKdV (1) were constructed by using the new extended generalized Kudryashov and improved $tan(\phi/2)$ -expansion methods. In [21], N-soliton solutions of the equation (1) were investigated by the Hirota method. As far as we know, Lie symmetry analysis of equation (1) have not been studied.

This paper is organized as follows: In Sect. 2, Lie symmetries of equation (1) are given. In Sect. 3, Riccati equation method is introduced. In Sect. 4, we will construct the exact solutions of the reduced equations by Riccati equation expansion method. In Sect. 5, we give some summaries and discussions.

2. LIE SYMMETRY ANALYSIS

In this section, we will construct Lie symmetries of the (2+1)-dimensional generalized Korteweg-de Vries equation.

Let us consider the Lie group of point transformations in x, y, t, u given by

$$\begin{aligned} x^* &= x + \epsilon \xi(x, y, t, u) + O(\epsilon^2), \\ y^* &= y + \epsilon \tau(x, y, t, u) + O(\epsilon^2), \\ t^* &= t + \epsilon \eta(x, y, t, u) + O(\epsilon^2), \\ u^* &= u + \epsilon \phi(x, y, t, u) + O(\epsilon^2), \end{aligned}$$

where $\epsilon \ll 1$ is a group parameter, and ξ, τ, η, ϕ are the infinitesimals. The corresponding Lie algebra is generated by the vector field

$$V = \xi(x, y, t, u) \frac{\partial}{\partial x} + \tau(x, y, t, u) \frac{\partial}{\partial y} + \eta(x, y, t, u) \frac{\partial}{\partial t} + \phi(x, y, t, u) \frac{\partial}{\partial u}.$$
(2)

© The Author(s) 2023

U. Vandandoo et al. (eds.), Proceedings of the International Conference on Applied Sciences and Engineering (ICASE 2023) Atlantis Highlights in Engineering 22, https://doi.org/10.2991/978-94-6463-330-6_5 The above transformation group is admitted by equation (1) if and only if

$$\operatorname{pr}^{(4)}V(\Delta)|_{\Delta=0} = 0,$$
 (3)

where $\Delta = 6au_x u_{xx} + au_{xxxx} + 3b(u_x u_t)_x + bu_{xxxt} + cu_{xx} + du_{yy} + eu_{xt}$ and $pr^{(4)}$ is the fourth prolongation of the vector field (2).

From Lie's theory, we have

$$pr^{(4)}V = \phi^x \frac{\partial}{\partial u_x} + \phi^t \frac{\partial}{\partial u_t} + \phi^{xx} \frac{\partial}{\partial u_{xx}} + \phi^{yy} \frac{\partial}{\partial u_{yy}} + \phi^{xt} \frac{\partial}{\partial u_{xt}} + \phi^{xxxx} \frac{\partial}{\partial u_{xxxx}} + \phi^{xxxt} \frac{\partial}{\partial u_{xxxt}},$$

where

$$\phi^{x} = D_{x}(\phi - \xi u_{x} - \tau u_{y} - \eta u_{t}) + \xi u_{xx}$$

$$+ \tau u_{xy} + \eta u_{xt},$$

$$\phi^{t} = D_{t}(\phi - \xi u_{x} - \tau u_{y} - \eta u_{t}) + \xi u_{xt}$$

$$+ \tau u_{yt} + \eta u_{tt},$$

$$\phi^{xx} = D_{xx}(\phi - \xi u_{x} - \tau u_{y} - \eta u_{t}) + \xi u_{xxx}$$

$$+ \tau u_{xxy} + \eta u_{xxt},$$

$$\phi^{yy} = D_{yy}(\phi - \xi u_{x} - \tau u_{y} - \eta u_{t}) + \xi u_{xyy}$$

$$+ \tau u_{yyy} + \eta u_{yyt},$$

$$\phi^{xt} = D_{xt}(\phi - \xi u_{x} - \tau u_{y} - \eta u_{t}) + \xi u_{xxxt}$$

$$+ \tau u_{xyt} + \eta u_{xtt},$$

$$\phi^{xxxx} = D_{xxxx}(\phi - \xi u_{x} - \tau u_{y} - \eta u_{t}) + \xi u_{xxxxx}$$

$$+ \tau u_{xxxy} + \eta u_{xxxxt},$$

$$\phi^{xxxt} = D_{xxxt}(\phi - \xi u_{x} - \tau u_{y} - \eta u_{t}) + \xi u_{xxxxt}$$

$$+ \tau u_{xxxty} + \eta u_{xxxtt}.$$

Expanding (3), we obtain

$$6au_{xx}\phi^x + 3bu_{xt}\phi^x + 3bu_{xx}\phi^t + 6au_x\phi^{xx} + 3bu_t\phi^{xx} + c\phi^{xx} + d\phi^{yy} + 3bu_x\phi^{xt} + e\phi^{xt}$$
(5)
$$+ a\phi^{xxxx} + b\phi^{xxxt} = 0.$$

Substituting (4) into (5), we obtain the following determining equations

$$\begin{split} \eta_u &= 0, \quad \eta_y = 0, \quad \eta_x = 0, \quad \xi_u = 0, \quad \xi_{tt} = 0, \\ \xi_y &= 0, \quad \eta_t = \frac{b\xi_t + a\xi_x}{a}, \quad \xi_{xt} = 0, \quad \xi_{xx} = 0, \\ \tau_u &= 0, \quad \tau_y = \frac{b\xi_t + 4a\xi_x}{2a}, \quad \tau_t = 0, \quad \tau_x = 0, \\ \phi_u &= -\xi_x, \quad \phi_{yy} = 0, \quad \phi_x = -\frac{2e\xi_x}{3b}, \\ \phi_t &= \frac{1}{3ab^2}(-b^2c\xi_t + abe\xi_t - 2abc\xi_x + 4a^2e\xi_x). \end{split}$$

Then solving the determining equations, we find that

$$\begin{aligned} \xi &= a_1 t + a_2 x + a_3, \\ \tau &= A_1 a_1 y + 2a_2 y + a_5, \\ \eta &= 2A_1 a_1 t + a_2 t + a_4, \\ \phi &= -a_2 u - A_2 a_2 x + a_6 y + A_3 a_1 t + A_4 a_2 t + a_7, \end{aligned}$$
(6)

where $a_1, a_2, a_3, a_4, a_5, a_6, a_7$ are arbitrary constants and $A_1 = \frac{b}{2a}, A_2 = \frac{2e}{3b}, A_3 = \frac{ae-bc}{3ab}, A_4 = \frac{4ae-2bc}{3b^2}$. Hence, the infinitesimal symmetry of the equation (1) form the seven-dimensional Lie algebra L_7 spanned by the following linearly independent operators

0

0

0

$$V_{1} = t \frac{\partial}{\partial x} + A_{1}y \frac{\partial}{\partial y} + 2A_{1}t \frac{\partial}{\partial t} + A_{3}t \frac{\partial}{\partial u},$$

$$V_{2} = x \frac{\partial}{\partial x} + 2y \frac{\partial}{\partial y} + t \frac{\partial}{\partial t} + (A_{4}t - A_{2}x - u) \frac{\partial}{\partial u},$$

$$V_{3} = \frac{\partial}{\partial x},$$

$$V_{4} = \frac{\partial}{\partial t},$$

$$V_{5} = \frac{\partial}{\partial y},$$

$$V_{6} = y \frac{\partial}{\partial u},$$

$$V_{7} = \frac{\partial}{\partial u}.$$
(7)

Using commutator operator $[V_k, V_j] = V_k V_j - V_j V_k$, we get the commutator table for (1)

3. AN OVERVIEW OF RICCATI EQUATION EXPANSION METHOD

The Riccati equation expansion method is an efficient mathematical analytical tool for solving the nonlinear PDEs and has been successfully applied to many complex nonlinear models.

We consider the following nonlinear PDEs of the form

$$N(F, F_X, F_T, F_{XX}, ...) = 0.$$
 (8)

Using the wave transformation $F(X,T) = F_1(\theta)$, one can reduce the equation (8) into the following ordinary differential equation

$$N(F_1, F'_1, F''_1, ...) = 0, (9)$$

where $\theta = X - \omega T$ is the wave transformation with the arbitrary constants ω .

To simplify (9), we assume the trial solution to be of the following form

$$F_1(\theta) = \sum_{i=0}^n m_i f^i(\theta), \qquad (10)$$

where m_i are arbitrary constants that will be confirmed later and f satisfies the Riccati equation

$$f' = \lambda + f^2, \tag{11}$$

where λ is arbitrary constant. The well-known solutions of the Riccati Equation (11) is

$$f = \begin{cases} -\sqrt{-\lambda} \tanh(\sqrt{-\lambda}\theta), \ \lambda < 0, \\ -\sqrt{-\lambda} \coth(\sqrt{-\lambda}\theta), \ \lambda < 0, \\ -\frac{1}{\theta}, \qquad \lambda = 0, \\ \sqrt{\lambda} \tan(\sqrt{\lambda}\theta), \qquad \lambda > 0, \\ -\sqrt{\lambda} \cot(\sqrt{\lambda}\theta), \qquad \lambda > 0. \end{cases}$$
(12)

Then applying the homogeneous balancing principal to equation (9), we can determine the value of n.

$[V_k, V_j]$	V_1	V_2	V_3	V_4	V_5	V_6	V_7
V_1	0	0	0	$-V_3 - 2A_1V_4 - A_3V_7$	$-A_1V_5$	A_1V_6	0
V_2	0	0	$-V_3 + A_2 V_7$	$-V_4 - A_4 V_7$	$-2V_{5}$	$3V_6$	V_7
V_3	0	$V_3 - A_2 V_7$	0	0	0	0	0
V_4	$V_3 + 2A_1V_4 + A_3V_7$	$V_4 + A_4 V_7$	0	0	0	0	0
V_5	A_1V_5	$2V_5$	0	0	0	V_7	0
V_6	$-A_{1}V_{6}$	$-3V_{6}$	0	0	$-V_7$	0	0
V_7	0	$-V_{7}$	0	0	0	0	0

 Table 1. Commutator table for (1)

Substituting (10) and (11) into (9), and equating the coefficients of the powers of f^i to zero, we can get the system of algebraic equations for m_i and ω . Thus, the transformation turns the solving differential equations into algebraic manipulations.

4. EXACT SOLUTIONS

In this section, we will construct the exact solutions of the (2+1)-dimensional generalized KdV equation combining Lie symmetry and Riccati equation expansion method.

4.1. $\mathbf{V_1} = \mathbf{t} \frac{\partial}{\partial \mathbf{x}} + \mathbf{A_1} \mathbf{y} \frac{\partial}{\partial \mathbf{y}} + 2\mathbf{A_1} \mathbf{t} \frac{\partial}{\partial \mathbf{t}} + \mathbf{A_3} \mathbf{t} \frac{\partial}{\partial \mathbf{u}}$ For the generator V_1 , the characteristic equations are

$$\frac{dx}{t} = \frac{dy}{A_1y} = \frac{dt}{2A_1t} = \frac{du}{A_3t}$$

The similarity form of the solution of equation (1)is

$$u(x, y, t) = \frac{A_3}{2A_1}t + F(X, Y),$$
(13)

with similarity variables $X = 2A_1x - t$ and $Y = \frac{y^2}{t}$, where $A_1 = \frac{b}{2a}$, $A_3 = \frac{ae-bc}{3ab}$. Substituting (13) into (1), we obtain reduction form

of equation (1)

$$2a^{2}dF_{Y} - 3b^{3}YF_{XX}F_{Y} + 4a^{2}dYF_{YY} - bY$$

[(ae + 3b²F_X)F_{XY} + $\frac{b^{3}}{a}F_{XXXY}$] = 0. (14)

4.2. $\mathbf{V_2} = \mathbf{x} \frac{\partial}{\partial \mathbf{x}} + 2\mathbf{y} \frac{\partial}{\partial \mathbf{y}} + \mathbf{t} \frac{\partial}{\partial \mathbf{t}} + (\mathbf{A_4}\mathbf{t} - \mathbf{A_2}\mathbf{x} - \mathbf{u}) \frac{\partial}{\partial \mathbf{u}}$ For the generator V_2 , the characteristic equations are

$$\frac{dx}{x} = \frac{dy}{2y} = \frac{dt}{t} = \frac{du}{A_4t - A_2x - u}.$$

The similarity form of the solution of equation (1)is

$$u(x, y, t) = \frac{1}{2}A_4t - A_2x + \frac{1}{t}F(X, Y), \qquad (15)$$

with similarity variables $X = \frac{x}{t}$ and $Y = \frac{y}{t^2}$, where $A_2 = \frac{2e}{3b}, \ A_4 = \frac{4ae-2bc}{3b^2}.$

Substituting (15) into (1), we obtain reduction form of equation (1)

$$-2eX^{2}F_{X} + 6bYF_{X}^{2} - dYF_{YY} - 2eX^{2}Y^{2}F_{XY} -eX^{3}F_{XX} + 6bY^{2}F_{X}F_{XY} + \frac{2ae}{b}X^{2}F_{XX}$$

 $+3bYF_{XX}+6bY^2F_YF_{XX}-6aYF_XF_{XX}$ $+ 6bXYF_XF_{XX} + 4bYF_{XXX} + 2bY^2F_{XXXY}$ (16) $+ bXYF_{XXXX} - aYF_{XXXX} = 0.$

4.3. $V_3 = \frac{\partial}{\partial x}$ For the generator V_3 , the characteristic equations are

$$\frac{dx}{1} = \frac{dy}{0} = \frac{dt}{0} = \frac{du}{0}.$$

The similarity form of the solution of equation (1)is

$$=F(Y,T),\tag{17}$$

with similarity variables Y = y, T = t.

U

u

Substituting (17) into (1), we obtain reduction form of equation (1)

$$dF_{YY} = 0. (18)$$

Solving (18), we have $F(Y, T) = F_1(T)Y + F_2(T)$. Therefore, we get the solution of (1) as

$$u(x, y, t) = F_1(t)y + F_2(t),$$

where $F_1(t)$ and $F_2(t)$ are arbitrary functions. 4.4. $\mathbf{V_4} = \frac{\partial}{\partial \mathbf{t}}$

For the generator V_4 , the characteristic equations are

$$\frac{dx}{0} = \frac{dy}{0} = \frac{dt}{1} = \frac{du}{0}$$

The similarity form of the solution of equation (1)is

$$u(x, y, t) = F(X, Y), \tag{19}$$

with similarity variables X = x and Y = y.

Substituting (19) into (1), we obtain reduction form of the equation (1)

$$dF_{YY} + cF_{XX} + 6aF_XF_{XX} + aF_{XXXX} = 0.$$
 (20)

4.5. $\mathbf{V}_5 = \frac{\partial}{\partial \mathbf{y}}$

For the generator V_5 , the characteristic equations are

$$\frac{dx}{0} = \frac{dy}{1} = \frac{dt}{0} = \frac{du}{0}.$$

The similarity form of the solution of equation (1)is

$$u(x, y, t) = F(X, T), \qquad (21)$$

with similarity variables X = x and T = t.

Substituting (21) into (1), we obtain reduction form of the equation (1)

$$eF_{XT} + 3bF_XF_{XT} + cF_{XX} + 3bF_TF_{XX} + 6aF_XF_{XX} + bF_{XXXT} + aF_{XXXX} = 0.$$
 (22)

For this case, using the Riccati equation expansion method, we will construct some new exact solution of equation (1).

Let

$$F(X,T) = F_1(\theta), \tag{23}$$

where $\theta = X - \omega T$ is new independent variable and F_1 is new dependent variable.

Substituting (23) into (22), we obtain following ordinary differential equation

$$cF_{1}^{''}-e\omega F_{1}^{''}+6aF_{1}^{'}F_{1}^{''}-6b\omega F_{1}^{'}F_{1}^{''}+aF_{1}^{(4)}-b\omega F_{1}^{(4)}=0$$
(24)

The following three cases will be considered for equation (24).

Case (1): When $c = e\omega$, $a = b\omega$, $\lambda < 0$, the exact solutions of (24) can be determined as

$$F_1(\theta) = m_0 - m_1 \sqrt{-\lambda} \tanh(\sqrt{-\lambda} \ \theta),$$

$$F_1(\theta) = m_0 - m_1 \sqrt{-\lambda} \coth(\sqrt{-\lambda} \ \theta).$$

Thus we have the corresponding exact solutions of equation (1)

$$u(x, y, t) = m_0 - m_1 \sqrt{-\lambda} \tanh(\sqrt{-\lambda} \ (x - \omega t)),$$

$$u(x, y, t) = m_0 - m_1 \sqrt{-\lambda} \coth(\sqrt{-\lambda} \ (x - \omega t)).$$

(25)

Case (2): When $c = e\omega$, $a = b\omega$, $\lambda > 0$, the exact solutions of (24) can be determined as

$$F_1(\theta) = m_0 + m_1 \sqrt{\lambda} \tan(\sqrt{\lambda} \ \theta),$$

$$F_1(\theta) = m_0 - m_1 \sqrt{\lambda} \cot(\sqrt{\lambda} \ \theta).$$

Then we have the corresponding exact solutions of equation (1)

$$u(x, y, t) = m_0 + m_1 \sqrt{\lambda} \tan(\sqrt{\lambda} (x - \omega t)),$$

$$u(x, y, t) = m_0 - m_1 \sqrt{\lambda} \cot(\sqrt{\lambda} (x - \omega t)).$$
(26)

Case (3): When $c = e\omega$, $a = b\omega$, $\lambda = 0$, the exact solutions of (24) can be determined as

$$F_1(\theta) = m_0 - \frac{m_1}{\theta}.$$

Thus we have the corresponding exact solutions of equation (1)

$$u(x, y, t) = m_0 - \frac{m_1}{x - \omega t}.$$
 (27)

4.6. $\mathbf{V_4} + \mathbf{b_5}\mathbf{V_5} + \mathbf{b_6}\mathbf{V_6} = \frac{\partial}{\partial \mathbf{t}} + \mathbf{b_5}\frac{\partial}{\partial \mathbf{y}} + \mathbf{b_6}\mathbf{y}\frac{\partial}{\partial \mathbf{u}}$ For the generator $V_4 + b_5V_5 + b_6V_6$, the characteristic equations are

$$\frac{dx}{0} = \frac{dy}{b_5} = \frac{dt}{1} = \frac{du}{b_6y}$$

The similarity form of the solution of equation (1) is

$$u(x, y, t) = \frac{b_6}{2b_5}y^2 + F(X, T),$$
(28)

with similarity variables $X = b_5 x$ and $T = b_5 t - y$.

Substituting (28) into (1), we obtain reduction form of the equation (1)

$$b_{6}d + b_{5}dF_{TT} + b_{5}^{3}(e + 3bb_{5}F_{x})F_{XT} + b_{5}^{3}cF_{XX} + 3bb_{5}^{4}F_{T}F_{XX} + 6ab_{5}^{4}F_{X}F_{XX} + bb_{5}^{5}F_{XXXT} + ab_{5}^{5}F_{XXXX} = 0.$$
(29)

For this case, using the Riccati equation expansion method, we will construct some new exact solution of equation (1).

Let

$$F(X,T) = F_2(\theta), \tag{30}$$

where $\theta = X - \omega T$ is new independent variable, and F_2 is new dependent variable.

Substituting (30) into (29), we obtain following ordinary differential equation

$$b_{6}d + (b_{5}d\omega^{2} + b_{5}^{3}(c - e\omega) + 6b_{5}^{4}(a - b\omega)F_{2}')F_{2}'' + b_{5}^{5}(a - b\omega)F_{2}^{(4)} = 0.$$
(31)

The following three cases will be considered for equation (31).

Case (1): When $\omega \neq 0, d = b_6 = 0, c = e\omega, a = b\omega, \lambda < 0$, the exact solutions of (31) can be determined as

$$F_2(\theta) = m_0 - m_1 \sqrt{-\lambda} \tanh(\sqrt{-\lambda} \ \theta),$$

$$F_2(\theta) = m_0 - m_1 \sqrt{-\lambda} \coth(\sqrt{-\lambda} \ \theta).$$

Then we get the corresponding exact solutions of equation (1)

$$u(x, y, t) = \frac{b_7}{b_5}y + \frac{b_6}{2b_5}y^2 + m_0 - m_1\sqrt{-\lambda}$$

$$\tanh[\sqrt{-\lambda} \ (b_5x - \omega(b_5t - y))],$$

$$u(x, y, t) = \frac{b_7}{b_5}y + \frac{b_6}{2b_5}y^2 + m_0 - m_1\sqrt{-\lambda}$$

$$\coth[\sqrt{-\lambda} \ (b_5x - \omega(b_5t - y))].$$
(32)

Case (2): When $\omega \neq 0, d = b_6 = 0, c = e\omega, a = b\omega, \lambda > 0$, the exact solutions of (31) can be determined as

$$F_2(\theta) = m_0 + m_1 \sqrt{\lambda} \tan(\sqrt{\lambda} \ \theta),$$

$$F_2(\theta) = m_0 - m_1 \sqrt{\lambda} \cot(\sqrt{\lambda} \ \theta).$$

Then we get the corresponding exact solutions of equation (1)

$$u(x, y, t) = \frac{b_7}{b_5}y + \frac{b_6}{2b_5}y^2 + m_0 + m_1\sqrt{\lambda}$$

$$\tan[\sqrt{\lambda} \ (b_5x - \omega(b_5t - y))],$$

$$u(x, y, t) = \frac{b_7}{b_5}y + \frac{b_6}{2b_5}y^2 + m_0 - m_1\sqrt{\lambda}$$

$$\cot[\sqrt{\lambda} \ (b_5x - \omega(b_5t - y))].$$
(33)

Case (3): When $\omega \neq 0, d = b_6 = 0, c = e\omega, a = b\omega, \lambda = 0$, the exact solutions of (31) can be determined as

$$F_2(\theta) = m_0 - \frac{m_1}{\theta},$$

Thus we get the corresponding exact solutions of equation (1)

$$u(x, y, t) = \frac{b_7}{b_5}y + \frac{b_6}{2b_5}y^2 + m_0 - \frac{m_1}{b_5x - \omega(b_5t - y)}.$$
(34)

4.7. The generator $V_5 + b_6 V_6 = \frac{\partial}{\partial y} + b_6 y \frac{\partial}{\partial u}$ For the generator $V_5 + b_6 V_6$, the characteristic equations are

$$\frac{dx}{0} = \frac{dy}{1} = \frac{dt}{0} = \frac{du}{b_6 y}.$$

The similarity form of the solution of equation (1) is

$$u(x, y, t) = \frac{b_6}{2}y^2 + F(X, T),$$
(35)

with similarity variables X = x and T = t.

Substituting (35) into (1), we obtain reduction form of equation (1)

$$b_{6}d + (e + 3bF_{x})F_{XT} + (c + 3bF_{T} + 6aF_{X})F_{XX} + bF_{XXXT} + aF_{XXXX} = 0.$$
(36)

5. CONCLUSION

In this paper, the Lie group analysis is used to carry out the similarity reductions of the (2+1)-dimensional modified KdV equation. We have obtained the infinitesimal generators, commutator table of Lie algebra, and similarity reduction for the modified KdV equation. The modified KdV equation has been reduced into a new partial differential equation with less number of independent variables. Using Riccati equation expansion method, the new partial differential equation is reduced into an ordinary differential equation and further some new exact solution of the modified KdV are constructed. It is hoped that all the results obtained in this paper can be used to enrich the applications of the nonlinear PDEs in mathematical physics.

REFERENCES

- [1] Cheemaa N, Seadawy A R, and Sheng C, Some new families of solitary wave solutions of the generalized Schamel equation and their applications in plasma physics, European Physical Journal Plus, 134(3):117, 2019. https://doi.org/10.1140/ epjp/i2019-12467-7
- [2] Barfield M, Martcheva M, Tuncer N, et al., Backward bifurcation and oscillations in a nested immuno-eco-epidemiological model, Journal of Biological Dynamics, 12(1):51-88, 2018. https://doi. org/10.1080/17513758.2017.1401676

- [3] Xu Z X, Chow K W, Breathers and rogue waves for a third order nonlocal partial differential equation by a bilinear transformation, Applied Mathematics Letters, 56:72-77, 2016. https://doi.org/10.1016/j. aml.2015.12.016
- [4] Benghanem M, Mellit A, Modelling and prediction of global, direct and diffuse hourly solar irradiance, International Journal of Renewable Energy Technology, 2(2):193-220, 2011. https://doi.org/10. 1504/IJRET.2011.039293
- [5] Granados S J, Salazar M J, Toral R A, et al., Pressure wave equation far from thermodynamics equilibrium, Journal of Physics Conference Series, 1221:012055, 2019. https://doi.org/10.1088/ 1742-6596/1221/1/012055
- [6] Jia T T, Gao Y T, Feng Y J, et al., On the quintic time-dependent coefficient derivative nonlinear Schrödinger equation in hydrodynamics or fiber optics, Nonlinear Dynamics, 96:229–241, 2019. https://doi.org/10.1007/s11071-019-04786-0
- [7] Yusuf A, Sulaiman T A, Alshomrani A S, et al., Breather and lump-periodic wave solutions to a system of nonlinear wave model arising in fluid mechanics, Nonlinear Dynamics, 110:3655–3669, 2022. https://doi.org/10.1007/s11071-022-07789-6
- [8] Loutsenko I, Roubtsov D, Critical velocities in exciton superfluidity, Physical Review Letters, 78(15):3011, 1997. https://doi.org/10.1103/ PhysRevLett.78.3011
- [9] Vallejos P, Johnson T, Ragona R, et al., Iterative addition of finite Larmor radius effects to finite element models using wavelet decomposition, Plasma Physics and Controlled Fusion, 62:045022, 2020. https://doi.org/10.1088/1361-6587/ab6f55
- [10] Ma Y L, Wazwaz A M, Li B Q. New extended Kadomtsev–Petviashvili equation: multiple soliton solutions, breather, lump and interaction solutions, Nonlinear Dynamics, 104:1581–1594, 2021. https: //doi.org/10.1007/s11071-021-06357-8
- [11] Bashar M H, Islam S M R, Exact solutions to the (2+1)-Dimensional Heisenberg ferromagnetic spin chain equation by using modified simple equation and improve F-expansion methods, Physics Open, 5:100027, 2020. https://doi.org/10. 1016/j.physo.2020.100027
- [12] Bashar M H, Arafat S M Y, Islam S M R, Rahman M M. Wave solutions of the couple Drinfel'd-Sokolov-Wilson equation: New wave solutions and free parameters effect, Journal of Ocean Engineering and Science, 10:24, 2022. https://doi.org/10. 1016/j.joes.2022.05.003
- [13] Wang, X B., Han, B. Application of the Riemann-Hilbert method to the vector modified

Korteweg-de Vries equation, Nonlinear Dynamics, 99: 1363–1377, 2020. https://doi.org/10.1007/ s11071-019-05359-x

- [14] Akinyemi L, Senol M, Akpan U, et al., An efficient computational technique for class of generalized Boussinesq shallow-water wave equations, Journal of Ocean Engineering and Science, 13:49, 2022. https://doi.org/10.1016/j.joes.2022.04.023
- [15] Bai Y S, Zheng L N, Ma W X, NTh-order rogue wave solutions of multicomponent nonlinear Schrödinger equations, Nonlinear Dynamics, 106:3415–3435, 2021. https://doi.org/10.1007/ s11071-021-06714-7
- [16] Bluman G W, Cole J D, The general similarity solution of the heat equation, Journal of Mathematics and Mechanics, 18(18):1025-1042, 1969. https://doi.org/10.1512/iumj.1969.18.18074
- [17] Kumar S, Kumar A, Lie symmetry reductions and group invariant solutions of (2+1)-dimensional modified Veronese web equation, Nonlinear Dynamics, 98:1891–1903, 2019. https://doi.org/10. 1007/s11071-019-05294-x
- [18] San S, Yaşar E, On the Lie symmetry analysis, analytic series solutions, and conservation laws of the time fractional Belousov–Zhabotinskii system, Nonlinear Dynamics, 109:2997–3008, 2022. https: //doi.org/10.1007/s11071-022-07549-6
- [19] Sahoo S, Garai G, Saha Ray S, Lie symmetry analysis for similarity reduction and exact solutions of modified KdV–Zakharov–Kuznetsov equation, Nonlinear Dynamics, 87:1995–2000, 2017. https: //doi.org/10.1007/s11071-016-3169-3
- [20] Raza N, Batool A, Inc M, New hyperbolic and rational form solutions of (2+1)-dimensional generalized Korteweg-de Vries model, Journal of Ocean Engineering and Science, 8:37, 2022.
- [21] Ma H, Yue S, Deng A, D'Alembert wave, the Hirota conditions and soliton molecule of a new generalized KdV equation, Journal of Geometry and Physics, 172:104413, 2022. https://doi.org/10. 1016/j.geomphys.2021.104413

Open Access This chapter is licensed under the terms of the Creative Commons Attribution-NonCommercial 4.0 International License (http://creativecommons.org/licenses/by-nc/4.0/), which permits any noncommercial use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons license and indicate if changes were made.

The images or other third party material in this chapter are included in the chapter's Creative Commons license, unless indicated otherwise in a credit line to the material. If material is not included in the chapter's Creative Commons license and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder.

